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Question 
Which of the following is not true about ‘power’? 
 

Answer 
Power is a narrow term compared to authority. 
 

 

 

Question 
Which function of management involves filling, and keeping filled, the 
positions in the organization structure? 
 

Answer 
Staffing 
 

 

 

Question 
Which of the following is true about the conclusions drawn from the trait 
approach to leadership? 
 

Answer 
The trait approach is based on early research that assumes that a good 
leader is born, not made 
 

 

 

Question 
Every organization structure, even a poor one, can be charted. Which of 
the following is false with respect to Organization Chart? 
 

Answer 
It shows authority relationships as well as informal and informational 
relationships 
 

 

 

Question 
Management By Objectives (MBO) is a system for achieving organizational 
objectives, enhancement of employee commitment and participation. Which 
of the following is not an advantage of MBO? 
 

Answer 
Flexibility. 
 

 

 

Question 
Span of control an important factor, which is to be taken into account 
when undertaking organizational design. Maintaining a large span of 
control within an organization is most effective in all except one of the 
following situations? 
 

Answer 



When jobs are similar but have varying performance measures 
 

 

 

Question 
Which of the following techniques for improving productivity aims at 
reducing costs by analyzing and improving individual operations of a 
product or service? 
 

Answer 
Value engineering 
 

 

 

Question 
Which of the following is not true with regard to functional authority? 
 

Answer 
Functional authority is in sync with the principle of unity of command. 
 

 

 

Question 
Sofia works in one of seven research and development departments at 
General Automobile Corporation. This would suggest that General 
Automobiles has a Sofia works in one of seven research and development 
departments at General Automobile Corporation. This would suggest that 
General Automobiles has a Sofia works in one of seven research and 
development departments at General Automobile Corporation. This would 
suggest that General Automobiles has a Sofia works in one of seven 
research and development departments at General Automobile Corporation. 
This would suggest that General Automobiles has a 
 

Answer 
Divisional structure 
 

 

 

Question 
Which of the following would not be an accurate depiction of the 
differences between strategic and tactical planning? 
 

Answer 
Facts for strategic planning are generally easier to gather than facts 
for tactical planning 
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